Cold Line

0

ROD 70 \&mf
FOR HANDPALLET

TRUCKS

‘-300

RESISTANT TO
LOW TEMPERATURES

Fixing accessory available also in stainless steel

ROD PE 70 266 RE

Drill @ 38
Equipped with accessories

Packing
Colour

hydewa

SUISSE ROMANDE

1 pz / box

A

M20
GALVANISED STEEL

28



04. COLD LINE

ROD PE 70

PALO PROTEZIONE
BOLLARD

®71,5

266

110

)
S

0

LIGHT oAb /

FOR HANDPALLET

TRUCKS
. ——— PCC 70

=4 —> NUT M20

\.\

@ — > SPRING WASHER M 20

& —— wasHER M20

<

—> PC 70 266

— > THREADED ROD M20




04. COLD LINE

ROD PE 70

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS
GUIDE DE MONTAGE

CHEMICAL
ANCHOR

[/
ANY :

i\

/2’53%

Ay o hydewa



ROD PE 70

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS
GUIDE DE MONTAGE

ROD REPLACEMENT

6 2
T=120Nm 7
8

j<0

A hydewa

Hydewa® Suisse Romande
Le Coutset 18

CH-1485 Nuvilly
www.hydewa.ch



	istruzioni_montaggio_rod_70
	schedatecnica_rod_pe_70 (1)
	schedatecnica_rod_pe_70



